LKr cell-by-cell efficiency for run 8094
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EoP Vs Momentum for run 8094
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E/p

EoP Vs TrkClsTime for run 8094
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E/p

EoP Vs Channel for run 8094
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EoP for run 8094
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E/p Efficiency

LKr E/p efficiency Vs BurstID for run 8094
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E/p Efficiency

LKr E/p efficiency Vs BurstID for run 8094
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MeanEoP

Mean E/p value Vs BurstID for run 8094
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MeanEoP

Mean E/p value Vs BurstID for run 8094
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SigmaEoP

Sigma E/p value Vs BurstID for run 8094
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EoPFitPar0

E/p fit parO value Vs BurstID for run 8094

1.04

1.02

0.98

0.96

0.94

0.92

0.9

550

750

BurstIiD



EoPFitParl

E/p fit parl value Vs BurstID for run 8094
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NHotCellsFromHitMap
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NHotCellsFromQualityWarnings
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NHotCellsFromPedestals
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Max number of cells in a dead cluster Vs BurstID for run 8094
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Number of dead cells Vs BurstID for run 8094
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NBitFlipCells

Number of bitflip cells Vs BurstID for run 8094
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NEventsWithManyHits

Number of events with more than 2000 hits for run 8094
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Ay, AX [mm]

Straw—LKr mean track positions in LKr Z plane
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